Review Logarithms
1) Rewrite the following exponentials as logarithms.
a)216=6" g o b) 1331 =113
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2) Rewrite the following logarithms as exponentials.
a) log, 2 =1 b) logg 64 = 2
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3) Evaluate the following logarithms.

a)logs9 [ 7 | b) logs 10
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4) Using the formula log(I) = M; — M, how many more times intense is an Earthquake measured at
7.5 compared to one measured at 5.4?
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5) Write as a single logarithm. ' —_—

a) 3logs(9) —logs(3) b) loge(8) — 21loge(6) + loge(3)
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c) logs(3) — x - logs(4) d) loge(x) +2loge(y) —loge(3)
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6) Expand the following logarithms.

a) logs(m3z°) b) logz(g)

7) Solve the following for x. You may or may not need to use logarithms.
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8) Write the following with only one natural log.

a) In10+In4 b) 5Inx-3Iny c) |na—2lnb+(1/2)lnc
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9) Solve the following for x. You may need to use the natural log. @ }y) z )o(.‘\
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a) In3x=6 b) In (4x—1) =36
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